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Section Id : 686340391
Section Number : 1
Section type : Online
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Number of Questions : 21
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Section Marks : 100
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Question Id : 68634019746 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634019747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078001. 1
68634078002. 2
68634078003. 3
68634078004. 4

Question Number : 2 Question Id : 68634019748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634078008. 4
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Question Number : 3 Question Id : 68634019749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634078010. 2
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Question Number : 4 Question Id : 68634019750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078013. 1
68634078014. 2
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68634078016. 4

Question Number : 5 Question Id : 68634019751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634019746 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634019747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634019748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634019749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634078010. 2
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Question Number : 4 Question Id : 68634019750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634019751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634078018. 2
68634078019. 3
68634078020. 4

Sub-Section Number : 2
Sub-Section Id : 686340651
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634019752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634078027. 3
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Question Number : 8 Question Id : 68634019754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634019754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634019755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634019755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019756 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019756 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634078038. 2
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Question Number : 11 Question Id : 68634019757 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634019757 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634019759 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634019759 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019760 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019760 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019761 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019761 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019762 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019762 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019763 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019763 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019764 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019764 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019765 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019765 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634019766 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

UF TSP $I IRTT T §U.UF A Tedl o " Te M AiPa S UM S FN B g g "
TSH B 3Y ASHI D Y FTFEY G ?

1. B
TS

. 3ihd

| ]

faa

4. q[Hlg

Options :

68634078077. 1
68634078078. 2
68634078079. 3
68634078080. 4

Question Number : 20 Question Id : 68634019766 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 5% P IREG BN §U.UP TS| el §."TU6 HR 3t o (a1 &I A DI 6 "
TSP B 3H ASHI D UIY I J&Y § 2
1. B
BRI

.3

| ]

L]

4. qlHIq

Options :

68634078077. 1
68634078078. 2
68634078079. 3
68634078080. 4

Question Number : 21 Question Id : 68634019767 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 ¥ 9 arde TaiE W AR H34 ard! [5y ot gauyy afga fam s &g 2

H

:
'3

4, TfHT SR

Options :

68634078081. 1
68634078082. 2
68634078083. 3
68634078084. 4

Question Number : 21 Question Id : 68634019767 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & T Brde Uaie W R0 &34 arel 3y & gauys afga e s g &1 g 2
1] dall

¥
g

4. TfHT dgER

Options :

68634078081. 1
68634078082. 2
68634078083. 3
68634078084. 4

Question Number : 22 Question Id : 68634019768 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS FERumE

HYA 1 : o HPEH REDPR, YR HIed BT G871 a2 [HR ¢ | 98 22 U3 § &1 orar g |

YA : RS TRAVLHIEH HBIGH PR U B alel YuH i U1 3 U8 TR 3751
XIS HITHS! 39 & felu Ure g Tl

SUddd Syl & fdi® §. 3T Y [dwed! 8 I 981 SR &1 9949 DI
L. HFIR I A B
B AR GH SEA T

| ]

3. BYT I 9T 8, AP T HYT I 3T &

4. BYI I 8. AT FYT I TTE

Options :

68634078085. 1
68634078086. 2
68634078087. 3
68634078088. 4

Question Number : 22 Question Id : 68634019768 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR e RTm?
HYAL : i SPIEH [BR, YR Hiied BT §HR1 Jai= [REPR 5| T 22 HWIaf H 301 Sirar g

YL : 3RS TRAVLHEH HBIGH TREDR U B dlcl YUH Fidd U1 3 98 TR 3751
IS HITS! SH o fe1u Wi gaim Tl

SUe Syl o Ml 4, (U U fdeed] ¥ 4 Tl 3T &1 999 Sifol;
1. BYF 1 AR I S G &
HYA T SR ST S AT

-2

3. YT T &, AT FYUTII 39T &

4, FUT I HTT 8. TpT YT T &

Options :

68634078085. 1
68634078086. 2
68634078087. 3
68634078088. 4



Question Number : 23 Question Id : 68634019769 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
T 1 D T 11 T
A [HERTEN L [gReoi
B.|3{fHeH AMgaad | I [[9emded
C[dada 111 [@Teiierd
D | 3T IV. [ & =t

i f3U 70 f[ddedl § T Tol 3T &1 99 Bl

1. A-I, B-II. C-IIL, D-IV

[ ]

CA-IL B-II1, C-IV, D-I
3. A-IV, B-II1, C-II. D-I
4. A-IIL B-1. C-IV, D-II

Options :

68634078089. 1
68634078090. 2
68634078091. 3
68634078092. 4

Question Number : 23 Question Id : 68634019769 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 1 I 11 ¥ fier Sifeg
Tl 1 S = 11 =T
A [rsra L [gift
B.[siftgH andbaay | 1. [lqemEed
Cldgda 1L [Tciterd
D.| 3T IV. [d o =t
=i fEu U fawedt J ¥ Tt IR &7 997 i -

1. A-I, B-II. C-IIL, D-IV

| ]

CA-IL B-IOIL C-IV, D-I
3. A-IV, B-III, C-II. D-I
4. A-IIL B-1. C-IV, D-II
Options :

68634078089. 1
68634078090. 2



68634078091. 3
68634078092. 4

Question Number : 24 Question Id : 68634019770 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYA1: [P &P 61d (AT AR D1 U <2l 53 Al § | U8 HIBI HI Uaeid] ¢ oigl 1o gol
qoigd g [ oo i 761, 78l d@ & a9 i 76 Ao waar

BYF 11 - STF! IUFRITT S g Iduys Tfererar Teitel gRT 1783 § & T4 |
SUddd Syl & fdi® §. 3T Y [dwed! 8 I 981 SR &1 9949 DI

1. YA IR G T 5
YT ARSI A

| ]

3. BYT 19T 8, AP THYT I ITT &

4 PUIHI L. T YT 1 Id &

Options :

68634078093. 1
68634078094. 2
68634078095. 3
68634078096. 4

Question Number : 24 Question Id : 68634019770 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYA1: [P &P 610 (AT (AR BT U el 53 AP &1 U8 SR B Ygeidl ¢ wiel 1o gl
Igd & [ oo W 751, 781 0@ & o Wi 6! Fea w@an|

YA 11 SUB] I ST Or9on Iauys Tfafemr Tee gR1 1783 | & 74t
SUe Syl o Ml 4, (U U fdeed] ¥ 4 Tl 3T &1 999 Sifol;

1. HUF 1 3R 11 ST I &
L BYA 1 R I AT A B

-2

3. YT T &, AT FYUTII 39T &

4, FUT I HTT 8. TpT YT T &

Options :



68634078093. 1
68634078094. 2
68634078095. 3
68634078096. 4

Question Number : 25 Question Id : 68634019771 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Idie Tae 1919 H gritiae faemedf uftwg gri uiia fasar mar o1 fored .
1. FTHRI ARTRS] R HHRe 3R 3= B gl S o ey
2. G OF &1 ga9dd 941 5 U= & AU SR A0 &1 slekad 9 Sfd & fau

3. DR B gad Ul U S qur et ot i w1 fe-1 fodl o9 / g & SREY 4 S1d 4

& fer
4. SIfaTe Radie & Fad% UHele gH ard dHAMR] o IRFIR &3 & [ &

Options :

68634078097. 1
68634078098. 2
68634078099. 3
68634078100. 4

Question Number : 25 Question Id : 68634019771 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3cie e 1019 H SR faemedf uftyg gri uiia feear mar o1 i .
1. THRI ARTRS] R HHRe 3R 3= B deIU S o ey
2. T O 1 gagde 941 J 1Rl & AU SR Ao 1 FeRgwi 90 319fd & fau

3. TR B ggd Wiad UaH S quT [t H digw of fr fod &/ geeH & SRE™ § S1d 3
& ferg

4, SIfqaTGE) A¥dare & RGArs Ueele g4 ald @Hdld] &l FRHKIR &4 & (60 &

Options :

68634078097. 1
68634078098. 2
68634078099. 3
68634078100. 4

Part B: Architecture

Section Id : 686340392
Section Number : 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340652
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019772 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘Bhimbetka caves' 1s a famous place located in which State ?

1. Madhya Pradesh

()

. Uttar pradesh

. Rajasthan

[F¥]

4. Maharastra

Options :

68634078101. 1
68634078102. 2
68634078103. 3
68634078104. 4

Question Number : 26 Question Id : 68634019772 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRrs e v fag 30 4 g 32
1. e HaR
WU

| ]

TSR

4, TIERTY

Options :

68634078101. 1
68634078102. 2
68634078103. 3
68634078104. 4

L]



Question Number : 27 Question Id : 68634019773 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which amoung these material is not used for filtering water in Rain water Harvesting System 7

1. Sand

[

. Filter Paper

. Gravel

L]

4, Charcoal

Options :

68634078105. 1
68634078106. 2
68634078107. 3
68634078108. 4

Question Number : 27 Question Id : 68634019773 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay & Ul & e Bt [T O Fafaiaa O 9 o i avg Ul 9% B & (AU SuaET A8l &1 Sl

o

1.3d
ey TqR

oy

Udd

| ]

T

4, IRBIA (TARBIA)

Options :

68634078105. 1
68634078106. 2
68634078107. 3
68634078108. 4

Question Number : 28 Question Id : 68634019774 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kenzo Tange developed the concept of -
1. Deconstructivisim
2. Arcology

. Metabolism

L ¥]

4. Anamorphosis



Options :

68634078109. 1
68634078110. 2
68634078111. 3
68634078112. 4

Question Number : 28 Question Id : 68634019774 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
deall eft A D1 Wl srauron s fg &t ol
1. SI HegaRH
RTdd
 HerarfatorH

4. IRR AT (HGYRU =007

| ]

Lad

Options :

68634078109. 1
68634078110. 2
68634078111. 3
68634078112. 4

Question Number : 29 Question Id : 68634019775 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name the fort of Rajasthan that 1s known as 'Sonar Kila'

1. Kumbhalgarh fort

| )

. Jaisalmer fort
3. Mehrangarh fort

4. Nahargarh fort

Options :

68634078113. 1
68634078114. 2
68634078115. 3
68634078116. 4

Question Number : 29 Question Id : 68634019775 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & fg fopd &1 91 &1 fopar (@ &1 91d1 §) Hel Tal o

[r—y

. HTTE DI fbar
SR & fopam

 HEXHTIE @l f[da

| ]

[ 5]

4, AT8NG P [l

Options :

68634078113. 1
68634078114. 2
68634078115. 3
68634078116. 4

Question Number : 30 Question Id : 68634019776 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following monuments are under UNESCO world heritage site ?

A. Temples of Khajuraho

B. Lotus temple, New Dells

C. Kamakhya temple .Assam

D. Brihadeeshwara temple .Thanjavur

choose the most appropriate answer from the option given below :
1. A only

2.B & C only

[F¥]

.D & C only
4. A& D only

Options :

68634078117. 1
68634078118. 2
68634078119. 3
68634078120. 4

Question Number : 30 Question Id : 68634019776 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafead TR®! & ¥ g-e] g1 9y eRIg & S{avid g g

A, GOgl o1 dfeR
B. dled ¢, T facell
D. §E4R HidR , dulgR
-9 U Tt faeedl § 9 9ad Sugad STR &1 99 SHIfo-
1. %dd A
FHAAB AR C
. Fa@D AR C

4. %dd A AR D

Options :

68634078117. 1
68634078118. 2
68634078119. 3
68634078120. 4

| )

[#5]

Question Number : 31 Question Id : 68634019777 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Griha 1s rating for green building given by:

1. The Energy Research Institute

[ )

. Ministry of Power
3. Bureau of Energy Efficiency

4. IGBC

Options :

68634078121. 1
68634078122. 2
68634078123. 3
68634078124. 4

Question Number : 31 Question Id : 68634019777 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7T, UF SARA & forg &t o arelt ST E o 3t 8
1. Boll ST SR

. fererett T

Gl & S

4, 375 ot @l 9

Options :

68634078121. 1
68634078122. 2
68634078123. 3
68634078124. 4

| ]

[ 5]

Question Number : 32 Question Id : 68634019778 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Capital Region 1s spread over

1. Union Territory of Delhi

| )

. Delhi and part of Uttar Pradesh

L% ]

. Delhi and part of Haryana

4. Union territory of Delhi .Part of Uttar Pradesh .Part of Haryana and Rajasthan

Options :

68634078125. 1
68634078126. 2
68634078127. 3
68634078128. 4

Question Number : 32 Question Id : 68634019778 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. g R Yo fae
. Taedl 3R ITR Wem o1 4
el #fR gl &1 44w
4. g AR Yo !, SR WS 1 4T, IS SR SRAT0N &1 HH

Options :
68634078125. 1

| ]

Lad



68634078126. 2
68634078127. 3
68634078128. 4

Question Number : 33 Question Id : 68634019779 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The focus of Florence charter 1s -

1. Conservation of places of culture Significance

[

. Conservation and restoration of Monuments & Sites.

. Conservation of historic town

s

4. Conservation of historic gardens.

Options :

68634078129. 1
68634078130. 2
68634078131. 3
68634078132. 4

Question Number : 33 Question Id : 68634019779 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URIRE 9T &1 & [ IR g -
il A=Y SR R BT Ha
. WR&] @1 g FHiur &R @
UfeIe =Rl &1 TRl
4. UfeTfis uret &1 Tem
Options :
68634078129. 1
68634078130. 2

68634078131. 3
68634078132. 4

-

)

Lad

Question Number : 34 Question Id : 68634019780 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An applied science of Design conserving universal human character and configurations aiming at effective
utility and safety 1s called .

1. Anthropometry

()

. Universal Design

. Parametric Design

L]

4. Biophilic Design

Options :

68634078133. 1
68634078134. 2
68634078135. 3
68634078136. 4

Question Number : 34 Question Id : 68634019780 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IV [a3H 1 =1 & SIER dfa® T & 9RA IR (9014 S yurdl Sugiidr iR gRa =1
PEard

1. AR
3. Gfafes TRa
4, 941 o fard TR=AT

Options :

68634078133. 1
68634078134. 2
68634078135. 3
68634078136. 4

| )

Question Number : 35 Question Id : 68634019781 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the renewable energy Commonly sourced at residence level.

1. Solar

[

. Wind
3. Tidal

4, Geo Thermal

Options :



68634078137. 1
68634078138. 2
68634078139. 3
68634078140. 4

Question Number : 35 Question Id : 68634019781 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT WR R 999 AR R e ardt Ardet sxofia S o @ g
1. g Sel

ga Sl

3. SaR el

4. 4:a

| B

Options :

68634078137. 1
68634078138. 2
68634078139. 3
68634078140. 4

Question Number : 36 Question Id : 68634019782 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book by Ebenezer Howard published in 1898 and Relevant today as well-
1. To-morrow: A peaceful path to Real Reform.
2. Garden eity of To-morrow

. Model Garden cities of To-morrow

T

4, Garden Suburb of London

Options :

68634078141. 1
68634078142. 2
68634078143. 3
68634078144. 4

Question Number : 36 Question Id : 68634019782 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078141. 1
68634078142. 2
68634078143. 3
68634078144. 4

Question Number : 37 Question Id : 68634019783 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 73 and 74™ constitution Amendments Pertain to

1. Abolishing urban land ceiling Act Panchayat

()

. Providing more responsibilities to Municipal and local bodies for planning and development

[F¥]

. Providing restricted role to rural courts to settle rural disputies.

4. Providmg right to information for the general people

Options :

68634078145. 1
68634078146. 2
68634078147. 3
68634078148. 4

Question Number : 37 Question Id : 68634019783 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TfauF H 73 a1 3R 74 af TReA 5 =i -
TR SHIA G B JA BT
 Oreraff 3R e & fau damd ok TR aifersTsd & fSreRt agr
1T 3 TS| 1 g H g1 U U=l 1 i Riha e
4. 3 STEHl B G BT HTSR &A1

Options :
68634078145. 1

[a—y

| ]

L]



68634078146. 2
68634078147. 3
68634078148. 4

Question Number : 38 Question Id : 68634019784 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indus Valley Civilization 1s Specially known for :-

1. Vaulted roofing in Masonary

2

. Underground dramage system

s

. Great palaces

4. Stone carvings of idols

Options :

68634078149. 1
68634078150. 2
68634078151. 3
68634078152. 4

Question Number : 38 Question Id : 68634019784 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femy Bt v o R wis &

1. [I1S, %1 aTee &t @a
 YIEATd SId el ot
R HERJIC]

4. GRR] IR A9HR (TR IR g FamRil)

Options :
68634078149. 1
68634078150. 2

68634078151. 3
68634078152. 4

)

Lad

Question Number : 39 Question Id : 68634019785 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Banyan tree .Peepal tree, Imli tree and Ashok tree are preferred on road side Plantation
Reason R: They are considered for thewr likely potential for pollution control.

in the light of the above statements .choose the most appropriate answer from the option given below.

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 15 correct but R 13 not correct

4. A 15 not correct but R 15 correct

Options :

68634078153. 1
68634078154. 2
68634078155. 3
68634078156. 4

Question Number : 39 Question Id : 68634019785 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g A QU T §, U Sffifeys A S &0 H [Rad 8 df GHR1 39 PRUIR & &4 1
TUBYT A: STTE BT TS, UITd BT U5 3R (D B IS Y5 & [T T Y &l ¢
BRI R: I TS 59 [0 T 91 T 1T g0 0 B $I GG TGl 2|
SIS HYH & Tl |, = f3U 7 fadedl § 9 969 Sugad IR &1 994 HifoIg:
1. ASIRR EFI H81 § SRR, A DI Ug! ARAT B
A SRR I 981 § IR R. A DI TSI AT 81 &
AT AFTRAG TE R
ATEITRIgAPTR Wl §

Options :

68634078153. 1
68634078154. 2
68634078155. 3
68634078156. 4

| ]
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e

Question Number : 40 Question Id : 68634019786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following generate heat Island ?

1. Urban Area

()

. Coastel Area
3. Wet land

4. Desert Land

Options :

68634078157. 1
68634078158. 2
68634078159. 3
68634078160. 4

Question Number : 40 Question Id : 68634019786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afreaigd & ¥ ®H-91 7 g9 s91ar g2
1. TE3 &

Options :

68634078157. 1
68634078158. 2
68634078159. 3
68634078160. 4

Question Number : 41 Question Id : 68634019787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the full form of PERT 7

1. Project Evaluation Review Technique

()

. Programme Evaluation Rating Technique
3. Programme Evaluation Review Technique
4. Project Evaluation Rating Technique
Options :

68634078161. 1
68634078162. 2



68634078163. 3
68634078164. 4

Question Number : 41 Question Id : 68634019787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PERT &1 U1 U =1 4 ford

1. UISige SaqUe g dohi-e
UIITH SaqURH W s
AT SATUYHE I ChiE

 Hiolde gdqqueH T ¢hd

| ]

L]

e

Options :

68634078161. 1
68634078162. 2
68634078163. 3
68634078164. 4

Question Number : 42 Question Id : 68634019788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per India Road Congress the "Width of formation' of National highway in plain land 1s:

1.6.0m

2

L12.0m

15.0m

L]

4. 18.0m

Options :

68634078165. 1
68634078166. 2
68634078167. 3
68634078168. 4

Question Number : 42 Question Id : 68634019788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SISU1 S BIUY B SER AP AR B1 FHAA H-HFT H fha-l 9I81s sl 91igy?
1. 6.0 Hex

L] | ]
— —
'__nl"l !-\_J
= =

4. 18.0 Hiex

Options :

68634078165. 1
68634078166. 2
68634078167. 3
68634078168. 4

Question Number : 43 Question Id : 68634019789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are the elements of Mosque architecture .

A, Minbar
B. Mandala
C. Qibla
D. Mehrab
E. Vihara

l.LAand D

2. AandC
3.A,B,and C
4 A CandD

Options :

68634078169. 1
68634078170. 2
68634078171. 3
68634078172. 4

Question Number : 43 Question Id : 68634019789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeiRad 33 ©H-91 da s g Hal d Feidd &-
A FHER
B. O3l
C. foaar
D. He3d
E. fagr
i U U [dded! | ¥ Yol 3tk & 994 Sy
1. A3RD
ASIRC
CA.B.3RC

4. A C3RD

Options :

68634078169. 1
68634078170. 2
68634078171. 3
68634078172. 4

| ]

[#5]

Question Number : 44 Question Id : 68634019790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following trees has columnar form?

1. Delonix Regia

[ )

. Tamaribdus indica
3. Polyalthia Longifolia

4, Callistemon Lanceolatus

Options :

68634078173. 1
68634078174. 2
68634078175. 3
68634078176. 4

Question Number : 44 Question Id : 68634019790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrofafEa & o1H-m Us &) WHeR §
1. Sar-eg e

K
%

4, BRI afdacey

Options :

68634078173. 1
68634078174. 2
68634078175. 3
68634078176. 4

Question Number : 45 Question Id : 68634019791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Islamic Architecture. the circular dome was constructed over a square configuration through

1. Grid iron coffered slab.

()

. Pendentives and squenels Arches.
3. Double Barrel Vault and Jack Arches

4. Horizontal Cross tie members

Options :

68634078177. 1
68634078178. 2
68634078179. 3
68634078180. 4

Question Number : 45 Question Id : 68634019791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

xS aRgadl 8 69 & gRI U@ FNeR [0 & S0 UP PR 1§g s/ ol o
1. S 3IRA HIHIS W
3. B9 oXd dlee UUS Ol T

Options :
68634078177. 1

| ]

e



68634078178. 2
68634078179. 3
68634078180. 4

Question Number : 46 Question Id : 68634019792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In case of residential apartments .the effective floor area available for use within an apartment .1s know as:

1. Carpet Area

[

. Built up Area

. Plinth area

s

4. Super Built up area

Options :

68634078181. 1
68634078182. 2
68634078183. 3
68634078184. 4

Question Number : 46 Question Id : 68634019792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® ATaM Oei< & e . smici= & < 1 YU Y &1 8905 d ol S9d & o gaid ©,
IO T Sl ol Bl

. @Ide g
iy Ui
YR foree-3g ufean

Options :

68634078181. 1
68634078182. 2
68634078183. 3
68634078184. 4

[—

| B

Lad

e

Question Number : 47 Question Id : 68634019793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The munimum road curb length required for parking .10 cars perpendicular to the road 1s:
1.15m

2.25m

]
i
=
=

4, 50m

Options :

68634078185. 1
68634078186. 2
68634078187. 3
68634078188. 4

Question Number : 47 Question Id : 68634019793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y5 R Ulich1] & 10 1 | S U= el fha-! el 9iiet Siaid 10 BN HS& & qrad o
15 HleX
25 1R
3. 40 HIeR
4. 50 Hiex

Options :

68634078185. 1
68634078186. 2
68634078187. 3
68634078188. 4

[—

| ]

Question Number : 48 Question Id : 68634019794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Concept of serial vision has been applied to the layout of Rashtrapati Bhawan Complex New
Delhi.

Statement IT : Rashtrapati Bhawan Complex was designed by Edwin Lutyen.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement [ is incorrect but Statement I1 1s correct

Options :

68634078189. 1
68634078190. 2
68634078191. 3
68634078192. 4

Question Number : 48 Question Id : 68634019794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 &l B fRu Ty :
HU 1 75 fgeail § YUl 4o URER 1 9 3@ GOR B & [0 g5 T9ad ar] [Hul
TYA I1- 'TS(a7 e - APl IRER B =41 daR @i o
ORI Y & ATl H, A= f3u T fadedl § 9 969 Sugad IR &1 99 ST

1. PYF I AR BYT IS A &

2. BYF I IR BYF I SHT T &

3. BYTI 9T B, APTBYT I ITT©

4 PYIITI L. T YT I IT ©

Options :

68634078189. 1
68634078190. 2
68634078191. 3
68634078192. 4

Question Number : 49 Question Id : 68634019795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Bahai Temple in Delhiis a

1. Tensile Structure

[

. Shell Structurs

. Pneumatic Structure

s

4. Space Structure

Options :

68634078193. 1
68634078194. 2
68634078195. 3
68634078196. 4

Question Number : 49 Question Id : 68634019795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feedl @1 agTS HidY T -

CHIEA A §

RN EIEI

Ufewm gare

4. WHEHETE

-

)

Lad

Options :

68634078193. 1
68634078194. 2
68634078195. 3
68634078196. 4

Question Number : 50 Question Id : 68634019796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The minimum area of a combined bath and W.C, as specified in the National Building code of India is-

1. 2.5 Sqmt

()

. 2.8 Sqmt

[F¥]

3.0 Sqmt
4. 3.2 Squmt

Options :
68634078197. 1



68634078198. 2
68634078199. 3
68634078200. 4

Question Number : 50 Question Id : 68634019796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

A9 fafeET DS & SR 9S §U WHNIR IR Y= & g g=dd &3 741 8-
1.2.5 T Hle

2.8 FBle

3.0 FHlE

4. 32 Flwle

Options :

68634078197. 1
68634078198. 2
68634078199. 3
68634078200. 4

| B

[#5]

Question Number : 51 Question Id : 68634019797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an important Variable to study for urban planning so as to develop Urban
infrastructure.

1. Land use planning

[ ]

. Noise Mapping

. Vegetation Mapping

Laa

4. Activity Mapping

Options :

68634078201. 1
68634078202. 2
68634078203. 3
68634078204. 4

Question Number : 51 Question Id : 68634019797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ed] uRaie @1 e & SHHR WEdl [ahrE &1 STURYd W3 & U B | YR 969 ka1l g |
1. YfE SUGRT AT

s At

3. T AFRE

4, QTS Tey A=

Options :

68634078201. 1
68634078202. 2
68634078203. 3
68634078204. 4

| ]

Question Number : 52 Question Id : 68634019798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"V7' Concept given by Le Corbusier refers to :

1. Neighbourhood Planning.

()

. Housing Typologies
3. Hierarchy of Roads

4. Transport Planning

Options :

68634078205. 1
68634078206. 2
68634078207. 3
68634078208. 4

Question Number : 52 Question Id : 68634019798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol SR & GRI 2 TS V7 YR 5 wefdfd et )
1. OGS TI8ulars!
11 R e AR S

3. TSP BT UG

4. UG Treir

Options :
68634078205. 1

[




68634078206. 2
68634078207. 3
68634078208. 4

Question Number : 53 Question Id : 68634019799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In G IS the set of entities represting Vector data type 1s

1. Pomt , Line, Polygon, Tin

[

. Pixel. Voxel

. DEM, DSM., DTM

s

4. Coordinates . Elevation slope

Options :

68634078209. 1
68634078210. 2
68634078211. 3
68634078212. 4

Question Number : 53 Question Id : 68634019799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot TS U H dge. 31 & YR &1 ufaffetg & are Swenafi o s
BEERGAGIER
. SigH, SI.TH. ¢\, L3 @,

4, dH-dY, JAYA ol

-

)

Lad

Options :

68634078209. 1
68634078210. 2
68634078211. 3
68634078212. 4

Question Number : 54 Question Id : 68634019800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The fire rating of Remforced glass doors. 1s expressed m.

1. Kcal

()

. Hour
3. Watt

4, Lux

Options :

68634078213. 1
68634078214. 2
68634078215. 3
68634078216. 4

Question Number : 54 Question Id : 68634019800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Jaferd Sid & axare o, SN 9 Wi & HuRuy fdwd od € |

1. Keal

e

[ ]

3.dIc

4.8

Options :

68634078213. 1
68634078214. 2
68634078215. 3
68634078216. 4

Question Number : 55 Question Id : 68634019801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A class room of 12 mt » 25 mt = 4 mt requires 3 air changes per hour (At an air Veloeity of 2m/s, the necessary

. pu Ty v
duct corss section (1m m~) is -
1. 0.50
2.0.75

. 1.00

L

4.1.25

Options :
68634078217. 1



68634078218. 2
68634078219. 3
68634078220. 4

Question Number : 55 Question Id : 68634019801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fort Ta & SHL BT B 12 11, « 25 11, « 4 1. 8 79 ga1 950+ & o0 3 °¢ & S=<d g gaT &f
a2 dt. / 9FS § @ So¢ BT IR ST @r g

1.0.50

)
2
a
A

4.1.25

Options :

68634078217. 1
68634078218. 2
68634078219. 3
68634078220. 4

Question Number : 56 Question Id : 68634019802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a requirement for fire exit ?
1. Entrance to the fire escape shall be separeted and remote from the internal staircase

2. The route to fire escape shall be free of obstructions at all times except the doorway leading to the fire
escape which shall have the required fire resistance

L]

. Fire escape should be located in the centre of the bldg

4. Fire escape should be constructed of non combustible material

Options :

68634078221. 1
68634078222. 2
68634078223. 3
68634078224. 4

Question Number : 56 Question Id : 68634019802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad § O o9 te snawgs A Regagie 2
S MY g3 R ¥ a1 8141 T8 U AR Haie wifgal 9 91 g1 91igy

3% i o I H Tt ofi g Big vepTae 81 Bl F1eT SR Sl gt ¥ (e & e
SITdT & 98 aarall SR SaRifed g1 9ied|

- 3 FP SHRA & did | 8H1 91gu|
4, 3 BT g9 TR Saa-Lid et T &1 g1 91ed|

Options :

68634078221. 1
68634078222. 2
68634078223. 3
68634078224. 4

[r—y

| ]

faa

Question Number : 57 Question Id : 68634019803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these Architecture Style According to time line

A, Baroque

B. Gothic

C. Renaissance
D. Romanesque
E. Modern

choose the correct answer from the option given below :

1.D.B,CAE

| ]

CACBED
3.D.BACE

4. DB.C.EA

Options :

68634078225. 1
68634078226. 2
68634078227. 3
68634078228. 4

Question Number : 57 Question Id : 68634019803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y @] & TR ar] Hal Ll Bl @

A WP
B. TfU®
C. IHT
D. IFT®
E. O1ed
i 50 70 [ddedl | ¥ 9ol 39 & 99 Sl

1. D.B.CAE

| ]

JACBED
3.D.BACE

4. D.B.C.EA

Options :

68634078225. 1
68634078226. 2
68634078227. 3
68634078228. 4

Question Number : 58 Question Id : 68634019804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I{Ancient Architecture) |LIST II{Structure)

A |Greek Architecture 1. |Parthenon
B. |[Roman Architecture II. PMastabas
C. [Egvptian Architecture II1. |Ziggurat
D. Mesopotamian Architecture] I'V. [Pantheon

Choose the correct answer from the options given below:

1. A-II. B-1, C-III, D-IV

| ]

CA-L B-IOOL C-I1, D-IV
3. A-L B-IV. C-I1. D-III

4. A-II. B-IV. C-I. D-III

Options :

68634078229. 1
68634078230. 2
68634078231. 3
68634078232. 4



Question Number : 58 Question Id : 68634019804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
I II
A e aRged! Lol
B. R Tl GESET
C R5E I [SPRd
D. [HyulerHE argdd [ IV. [u-isi
frafeiad fadel 5 9 98t 9Tk &1 991 ST

1. A-II. B-1. C-III. D-IV

)

. A-L. B-IIL. C-I1. D-IV

CA-L B-IV, C-I1. D-III

[#5]

4. A-I1. B-IV, C-1. D-III

Options :

68634078229. 1
68634078230. 2
68634078231. 3
68634078232. 4

Question Number : 59 Question Id : 68634019805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I{TRAPS) LIST II{Areas)
AP Trap I. |lnspection chamber
B. |Gully Trap II. |Bathroom
C. |Bottle trap I11. [Indian W.C
D. |[Nahani trap IV, [Wash basin

Choose the correct answer from the options grven below:

1. A-IIL, B-IV. C-I . D-II

)

AL B-IL C-IV, D-II
3. AL B-IV, C-II, D-IIT
4. A-II. B-I, C-IV ., D-III
Options :

68634078233. 1
68634078234. 2



68634078235. 3
68634078236. 4

Question Number : 59 Question Id : 68634019805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse

-\:g I '\‘E‘ZII
] - %:E[ I [[H3&0 e {Inspection chamber)
el - <0 L [GH W
@led - ¢d 1L YR T=rad
AgM-¢u | IV, [9r8 e

frafead famedl § T Wl SR & =g S ;

1. A-ITT. B-IV, C-1, D-I1

ofo]w]s

| ]

AL B-IL C-IV , D-II

CA-IB-IV, C-II. D-III

L

4. A-II. B-L. C-IV . D-III

Options :

68634078233. 1
68634078234. 2
68634078235. 3
68634078236. 4

Question Number : 60 Question Id : 68634019806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The essential difference between CPM and PERT is:

1. Critical Path Vs Critical activity

()

. Arrow notation Vs Notation precedence

[F¥]

. Deterministic approach Vs Probalistic approach
4. Project Monitoring Vs Network Analysis

Options :

68634078237. 1
68634078238. 2
68634078239. 3
68634078240. 4



Question Number : 60 Question Id : 68634019806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
diiied iR 91, 3. IR, < (PERT) H a9 AR F 6|

1. fopfed ure & (939G fhfcaa nfafafey

-J

AR Hihfdd 8 & fdvg R Fidlas =g
FraEs S RE & [dvs IER EHi
4. Violge &1 3@ 3@ & [G9g Jead TAnary

Options :

68634078237 1
68634078238. 2
68634078239. 3
68634078240. 4

Lad

Question Number : 61 Question Id : 68634019807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A small commercial plot measuring 20 meter »* 30 meter is subjected to maximum ground coverage of 60%
and FAR 300 with Fullest land utilisation and uniform floor areas .how many floors can be built on the plot ?

1. Six

[ )

. Three
3. Five
4. Ten

Options :

68634078241. 1
68634078242. 2
68634078243. 3
68634078244. 4

Question Number : 61 Question Id : 68634019807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U BIe VS WIE DI A UR 20H1eR « 30 Hex UrIl 7141, fSRaT FAR 300 § 31R 60 UORId $d FAR
BT YA IR T BYb THIOR Hag &7 B ITURT B @Ie H Hd (dba-i| Hiad a-Tg ol 9! o7

1.6

)
LF¥)

L
"

4. 10

Options :

68634078241. 1
68634078242. 2
68634078243. 3
68634078244. 4

Question Number : 62 Question Id : 68634019808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I LISTII
A Hall of Nations, New Dellu I. |Spherical Structure
B. |Salvacao church. Mumbai II. |Shell Roof Structure
C. |State trading Corporation Building, New Delhi | IIL. |Octahedral Lattice Structure
D. Patri Mandir, Auroville IV, [Vierendesl Structure
Choose the correct answer from the options given below:

1. A-IIL, B-II. C-IV. D-I

| )

A-IL B-IIL C-IV, D-I
3. A-IILL B-1, C-IV, D-I1

4. A-IIIL B-1V, C-I1, D-1

Options :

68634078245. 1
68634078246. 2
68634078247. 3
68634078248. 4

Question Number : 62 Question Id : 68634019808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T 1 T 11
A [BTd 1% 99H. T faeeh I iR e
B. [Oar®l @<, 08y . Bid &% ol
C. [&2e 187 HUREH fafeeq, 5 feeat | 111 [siiaer ega dfed g
D. [A7a1 #fez, 3Rifad IV [[gaeia fiReg

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-ITL. B-II. C-IV, D-I

[ ]

CA-TLL B-II0L, C-TV, D-I

CA-IILL B-IL C-IV, D-II

L V]

4. A-IIL. B-IV, C-II. D-I

Options :

68634078245. 1
68634078246. 2
68634078247. 3
68634078248. 4

Question Number : 63 Question Id : 68634019809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Brinda Somava [. PMMuseum of Tribel Hentage Bhopal
Shrila Sai Prakash| II. |St. Thomas cathedral Mumbai
F.evathy Kamath | II1. [Bait-ir-Rauf Mosque , Dhaka
Marina Tabassem | IV, [Cholamandal Artist's Village Chennai

o|ofw[>

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-III

| ]

CA-IL B-IV. C-1L D-III
3. AL B-I, C-III, D-IV

4. AL B-I. C-I1. D-IV

Options :

68634078249. 1
68634078250. 2
68634078251. 3
68634078252. 4



Question Number : 63 Question Id : 68634019809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg

T 1 T I
GIER Gk SARA
a1 9 I [3Gardt [qRed Suee™
e 15 U | 1L [Ue 4y $yed, dag
THY |01 [§2-RIH A9g, gdl
WA deds |1V [@idHsd didR i 9ds

fFafeiad [deedl § O Og! ST &1 94 i -

1. A-II. B-I. C-IV. D-III

ofo]w[s

)

CA-IL B-IV, C-1. D-III

CA-ITL B-LL C-ITLL, D-IV

[#5]

4. A-II1. B-1. C-I1. D-IV

Options :

68634078249. 1
68634078250. 2
68634078251. 3
68634078252. 4

Question Number : 64 Question Id : 68634019810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these Temple according to their Period

A Lmgraj Temple. Bhubaneshwar
B. Sun Temple . Modhera . Gujrat
C. Shore Temple .Mahabalipuram
D. Taj mahal . Agra

E. Ajanta /Ellora Caves

choose the correct answer from the option given below:

1.ECBAD

[ S

.E.C,AB.D

.C.AED.B

L% ]

4. CEAB.D

Options :
68634078253. 1
68634078254. 2



68634078255. 3
68634078256. 4

Question Number : 64 Question Id : 68634019810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i U v a1 &1 9Hy = & 3R el shH H T ;

A. TR HfeR, YaiaR
B. %iﬂﬁ? e, TRt
C. YR AR, Heeeigzy
D. dIsl Hgdl, 3R]

4 feu U f[dsedl § O U8l 3R &1 984 i |

1.E.CB.AD

2.E.CAB.D
3. CCAEDB

4 CEAB.D

Options :

68634078253. 1
68634078254. 2
68634078255. 3
68634078256. 4

Question Number : 65 Question Id : 68634019811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange these Architects according to the year they won Pritzker Architecture Prize in descending order.

A. Arora Isozaki
B. B.V Doshi

C. Jean Nouvel
D. Zaha Hadid
E. Frei otto

choose the correct answer from the option given below:

1. AD.CB.E

| )

.B.AE.C.D
3. ABE.CD

4. ABCDE

Options :



68634078257. 1
68634078258. 2
68634078259. 3
68634078260. 4

Question Number : 65 Question Id : 68634019811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AER A o au & aRgee o1 [y [REPR Sildl § 39 S8R 9ed g3 oH § gl

A. &t gt gt
B. 59 Aldd

C. Sel galg
D. Tl 2ffet
i [0 0 [ddedl | ¥ Tl 3R & 994 SOl |

1. ADCB.E

| ]

.B.AECD
3. ABECD

4. AB.CD.E

Options :

68634078257. 1
68634078258. 2
68634078259. 3
68634078260. 4

Question Number : 66 Question Id : 68634019812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST 1T
A [Simply supported Brnidge| 1. [Howrah Bradge, West Bengal
B. |Arch Bridge II. |Rajendra Setu | Bihar
C. |Suspension Bridge II1. |Svdnev Harbor Bridge
D. |Cantilever Bridge IV. [Brooklyn Bridge, New vork
Choose the correct answer from the options given below:

1. A-III, B-1I, C-1, D-IV

| ]

CA-IL B-IV. C-IIIL D-1

3. A-IIL B-IV, C-II, D-1

4. A-II. B-IIL. C-IV, D-I



Options :

68634078261. 1
68634078262. 2
68634078263. 3
68634078264. 4

Question Number : 66 Question Id : 68634019812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 g1 11 9 o Hifee

gl 1 T 11
e guics fgw | 1 [Bras f9e, uids s
HID a9 11 RTois ¥g, 48R
M foe 111 [T gTaR foel
BRARICHEE] V. [g@ieH f9e gaia

fFafead Aeedl § O T8l IR &1 904 i -

1. A-IIL. B-1II. C-I, D-IV

=l kel ol N

)

VAN B-IV, C-III, D-I
3. A-ITT. B-TV. C-I1. D-I
4, A-TI. B-I11. C-IV, D-I

Options :

68634078261. 1

68634078262. 2

68634078263. 3
68634078264. 4

Question Number : 67 Question Id : 68634019813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements of some famous Architects

Statement I : 'Less i3 more'-statement 1s given by Mies Van der Rohe.

Statement IT : 'Less 1s bore'-statement 1s given by Tadao Ando

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ )

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II 15 incorrect

L]

4, Statement [ 1s incorrect but Statement II 1s correct



Options :

68634078265. 1
68634078266. 2
68634078267. 3
68634078268. 4

Question Number : 67 Question Id : 68634019813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & e fRu Mg &
®YA - T 39 AR TS 9 S R e T
HYF - T 30 R DY s TSr gRI i i
SURIGT Y & 3fTalid H, i fQU U fdsheni & 9 Tad Sugad SR &1 994 S

1. FYT IR PUT I SF 9T &

)

YT AR DY ST ST S

HYTI I8, AT HYT I 3T ©

Lad

4. PYTI TGI8, AT PYT I TT B

Options :

68634078265. 1
68634078266. 2
68634078267. 3
68634078268. 4

Question Number : 68 Question Id : 68634019814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Dumb waiter' 1s a type of :

1. Robot

()

. Lift

. Escalator

[F¥]

4. Dish washer

Options :

68634078269. 1
68634078270. 2
68634078271. 3



68634078272. 4

Question Number : 68 Question Id : 68634019814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 IR frve yoR @
1. Y&l
fere
TR

4. f&9 R

)

Lad

Options :

68634078269. 1
68634078270. 2
68634078271. 3
68634078272. 4

Question Number : 69 Question Id : 68634019815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Desirable spacing of trees along highway is:
1. 3m to Tm
2. 9m to 15m

.20m to 25m

L]

4, 20m to 30m

Options :

68634078273. 1
68634078274. 2
68634078275. 3
68634078276. 4

Question Number : 69 Question Id : 68634019815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSl HIT o 1Y T 1ol gafl i Sird e a1 6 -
138 g 7

Cofl. F 15 Hl.

3.20 91 H 25 Hl.

4,20 11, ¥ 30 HI,

Options :

68634078273. 1
68634078274. 2
68634078275. 3
68634078276. 4

| ]

Question Number : 70 Question Id : 68634019816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Urban planning Cohort refers to:

1. Age and sex classification of population

()

. Contour levels in slop analysis
3. Land use classification of population

4. Soi1l Layer classification

Options :

68634078277. 1
68634078278. 2
68634078279. 3
68634078280. 4

Question Number : 70 Question Id : 68634019816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qTel Xl uRAeHT § BIgIE (ST SgYd Hdl ¢ -
1. 317 3R T & SR UR ST BT D0

| ]

B ER W A B Sid S
3. SHEEIT & HIYR R IULRT B & g o1 &7 arfiepu
gl 1 gagl @1 afferu

Options :
68634078277 1

s



68634078278. 2
68634078279. 3
68634078280. 4

Question Number : 71 Question Id : 68634019817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A [Index plan L Demﬂf of P_iUHEbmg service, water
supply and sewage
The relative position of all the different
umnit

B. [Key plan 1L

The general lavout of a new town
C. |Service plan II1. showing the position of roads,
imarket, hospitals etc

D. [Lavout plan IV [Details of the particular building

Choose the correct answer from the options given below:

1. A-IV. B-11I, C-II, D-I

| ]

AL B-IV. C-1. D-1I

CA-IL B-1L C-I1. D-IV

L]

4. A-IV, B-1. C-1I. D-III

Options :

68634078281. 1
68634078282. 2
68634078283. 3
68634078284. 4

Question Number : 71 Question Id : 68634019817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T 1 = I
Se@H | I A9 9o, Semdfd iR 59 @l AR
@ @ IL [qafi faftrs sorsal @t ame RS
Tem!, araRl AR AROdrl 3G F1
e (I R G U 90 7R &1 9 0 3l
33 A | IV. [[afRIF 3ARd &1 fdazu

FHafeiad fdpedl § U Ugl 3R &1 9049 Iy -

1. A-IV, B-I11, C-IT, D-I

of o [w[e

[ ]

AL B-IV. C-1. D-I

- A-IIL B-L. C-I1. D-IV

L

4. A-IV, B-I. C-II. D-III

Options :

68634078281. 1
68634078282. 2
68634078283. 3
68634078284. 4

Question Number : 72 Question Id : 68634019818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Architecture was in its prime about 2000 years ago in Ancient India.

Reason R:At Bhitargaon m Uttar Pradesh a tower was built on the top of garbhagriha, know as Shikharas
which required careful planning.

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4, A 15 false but B 1s true

Options :

68634078285. 1
68634078286. 2
68634078287. 3
68634078288. 4



Question Number : 72 Question Id : 68634019818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 21 HYF [SU L §: UF iU (Assertion A) & &0 7 [AREd § O G¥RT 3HP PRUI (Reason R) P
0 H;

HTUFHYT A: 2000 T Jd U YRA H aRgHl S0 I=909 W IR 41

PRI R: IR Wa¥ & [§eR 7iid # 74 18 & SR US HHR a-13 715 o4 FRRaR & 714 § &1 o1l 8
fores fa 9gd T gde dreH g1 x|

SURIGT Y & 3fTalid H, i fQU U fdsheni & 9 Tad Sugad SR &1 994 S
1. AR REH T8l & AR R AT el I &
2. A 3R R €T UET 8 SRR, A &1 el e T 8

3. ATRIE Afpa R TSI TG ©

4 AFSI TR APIR T &

Options :

68634078285. 1
68634078286. 2
68634078287. 3
68634078288. 4

Question Number : 73 Question Id : 68634019819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in ascending order of width :

A. Collector Street
B. Arterial Road

C. Local Street

D. Sub Arterial Road

choose the correct answer from the option given below :
1.ABD.C
2.CBD.A
3.B.D,CA

4. BDAB

Options :
68634078289. 1
68634078290. 2



68634078291. 3
68634078292. 4

Question Number : 73 Question Id : 68634019819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AI8Ts & AR F6d I H W :

A, BAFR GSP

B. 3M1cRgd g (WHdl 4g)
C. dPd KT

D. Td AERTd 985

Hid U 770 f[deed 1 ¥ 9ol 3w &1 994 Bl

1.AB.D.C

| ]

.C.B.D.A
3.B.D.CA

4. B.D.AB

Options :

68634078289. 1
68634078290. 2
68634078291. 3
68634078292. 4

Question Number : 74 Question Id : 68634019820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Broad acre city was proposed by

1. Ebenezer Howard

[ E]

. C.A Doxiadis

L%}

. Frank Lloyd Wright

4. Le Corbusier

Options :

68634078293. 1
68634078294. 2
68634078295. 3
68634078296. 4

Question Number : 74 Question Id : 68634019820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J1S Udh s WIg [y yaliad foedr o |
1. U sediufsy

T dlgs Tec

4. T BIYRRR

Options :

68634078293. 1
68634078294. 2
68634078295. 3
68634078296. 4

-

| ]

Lad

Question Number : 75 Question Id : 68634019821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Surkhi 13 obtained by grinding
1. Well burnt clay bricks
2. Slag from industry
3. Rocks

4. Rice husk

Options :

68634078297. 1
68634078298. 2
68634078299. 3
68634078300. 4

Question Number : 75 Question Id : 68634019821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feparast forams & TRt wre it 8
1. (=31 OXE ¥ USD! g3 (el Bl g
T e gai i
HeM
4. 919 I ferat

Options :
68634078297. 1

| ]

L]



68634078298. 2
68634078299. 3
68634078300. 4

Question Number : 76 Question Id : 68634019822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The age of a tree 1s determined by :

1. Counting the number of rings in stem cross section

[

. Counting no of Leaves on the main branch.
3. Measuring the height of tree from root ball

4. Measuring the canopy circumference of tree.

Options :

68634078301. 1
68634078302. 2
68634078303. 3
68634078304. 4

Question Number : 76 Question Id : 68634019822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U J& DI TG BT G0 58 T 3 -

-

& & T D U BIc 1 Ao Sedl @ i a1

)

. g% ¢l W Hielg o Ul @1 701 R |
. J& DI SIS| & THIE Y 9& B GaTg A9 |
4. US &1 %4 B ulRfY Arge

Lad

Options :

68634078301. 1
68634078302. 2
68634078303. 3
68634078304. 4

Question Number : 77 Question Id : 68634019823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Kashi Vishwanath Cormidor' Development project was completed by wlhich architect 7

1. B.V Doshi

()

. Bimal Patel

. Asghole B.Lall

]

4. Dikshu Kukreja

Options :

68634078305. 1
68634078306. 2
68634078307. 3
68634078308. 4

Question Number : 77 Question Id : 68634019823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI fay1Y SIRSR b1y Ui 69 aRgeR 7 0 )
1. §l.dt. gt

3R o, a1

fam@ ged

e papan

Options :

68634078305. 1
68634078306. 2
68634078307. 3
68634078308. 4

()

]

e

Question Number : 78 Question Id : 68634019824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Agra fort was built by Akbar and He shifted there from Fatehpur Sikri.

Reason R: Though Akbar wanted to rule the nation from Fatehpur Sikri, but he could not stay there for long
due to lack of water in that area and shifted to Agra fort .

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

()

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R 1s false

4. A is false but B 1s true

Options :

68634078309. 1
68634078310. 2
68634078311. 3
68634078312. 4

Question Number : 78 Question Id : 68634019824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i< 3 B R T B TP AHfUFUT (Assertion A) B FU H TR € TN G THD BRT (Reason R) P
U,

STUHYT A : SR BT [Ha1 HPaR A F9a11 YT o Bog R (o<l o ST (ST 71T o7 |

PRUTR : HHTR BAg IR (P31 Qe TR AME ST 161 YT IR I8 SJIel THY 36 ol IPT Fifd
g8l IR 9! &1 BT 2 29 fU TR & o § RIEaiGg gH1 97|

SWRIH Y & 3Telie |, = f3U 1 fddhedl § 9 969 Suged IR &1 99 HifoIg;
1. ARREFITAE IR R ADI ol RSN &
2. AJRREA TUE R R, A DI T TR T8 &

3. ATAE AR ITT B

4. AT E APIRTT S

Options :

68634078309. 1
68634078310. 2
68634078311. 3
68634078312. 4



Question Number : 79 Question Id : 68634019825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the mechanisms that is associated with the heat loss of a material

A. Conduction
B. Reflection
C. Convection
D. Radiation
E. Refraction

choose the correct answer from the option given below:

l1.LABand C

| ]

CACand D
JJABand E

4 BDand E

Options :

68634078313. 1
68634078314. 2
68634078315. 3
68634078316. 4

Question Number : 79 Question Id : 68634019825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 fopar faftr &5t ugam oy o fodt yerf St S e A gdfia g

A, FTEH

B. TIadA

C. (HI9a9H) Hag
D. fafeeor

E. 30dcdH

1= fdu U [9eedl § 9 a4 Iugdd SR &I 99 BT
LAB3RC

A.C3RD

_A.B3IRE

4.B.D3IRE

Options :
68634078313. 1
68634078314. 2

| ]

L]



68634078315. 3
68634078316. 4

Question Number : 80 Question Id : 68634019826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a part of disaster resistant building ?

1. Shear wall

()

. Glass window

]

. Cross bracing
4. Bonds at different level from plinth to roof

Options :

68634078317. 1
68634078318. 2
68634078319. 3
68634078320. 4

Question Number : 80 Question Id : 68634019826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frofafEd o T URd T HH T 4T SM9eT ERIYT 7ol ¢
1. AUEYU ElaR
Hig Bl fasH!
ST SR

4. T Y Bd T HA- 3T TR W ST EHT

| ]

L]

Options :

68634078317. 1
68634078318. 2
68634078319. 3
68634078320. 4

Question Number : 81 Question Id : 68634019827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Planning theories) (Proponents)
Sector Theory I. |[Ebenezer Howard

[Neighbourhood Theory| 11 [Harris and Ullman
Multiple Nuclei Theory] 111 [Homer hoyt
(Garden citv Theory IV |Clarence Perry

ofo|wm|x

Choose the correct answer from the options given below:

1. A-IIL. B-II, C-IV, D-I

()

A-IV, B-1. C-I1I1, D-II

. A-IIL B-IV., C-II. D-I

L

4. A-TIV, B-II1, C-I, D-II

Options :

68634078321. 1
68634078322. 2
68634078323. 3
68634078324. 4

Question Number : 81 Question Id : 68634019827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
.- e

N e I Ed=R 88

B. Favgs Wi 1L [gR¥ 3R 3aad

C. [qeeiue Yol @RI | 1L [EIR 8

D. [lied e @l | IV, [aaaed oal

fFafeiad [deedl § O Og! ST &1 94 i -

1. A-IIL. B-1II, C-IV, D-I

-J

ATV, B-I, C-TII, D-II

AT B-IV, C-I1, D-I

[#5]

4. A-TV, B-ITI, C-1, D-II

Options :

68634078321. 1
68634078322. 2
68634078323. 3
68634078324. 4



Question Number : 82 Question Id : 68634019828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ECBC was launched in India on may 27 .2007. It 1s applicable for

A. Commercial Building having less than 500kw load
B. Commercial Building having load of 500kw or more

C. All building with conditioned floor areas 500m” to 1000m”
D. All building with conditioned floor areas 500m” to 1000m>

choose the most appropriate answer from the option given below:

1. A and C only

()

.A.C and D only

L]

.B and D only

4.B and C only

Options :

68634078325. 1
68634078326. 2
68634078327. 3
68634078328. 4

Question Number : 82 Question Id : 68634019828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
27 5. 2007 T YRd & ECBC Y= §31 U8 8 R AR a1 3 |

A, AIUITSID AR 1 TS 500 kw I HH ST

B. AIUIGT® SHRA ®1 A8 500kw T1 599 SU1&1 81T

c. g3t ARGl H B2 &1 &7 500m? I 1000m? I

D. T SARA! § Td B &1 &7 500m? T 1000m? ST STT&T gHT|

[

-9 fRu Tt fasedl § 9 9ad Sugad SR BT 99 SHIfot-
1. Fad A SR C

. $ad A, C 3R D

3. %90 B 3R D

4. HAAB AR C

Options :

68634078325. 1
68634078326. 2
68634078327. 3

-2



68634078328. 4

Question Number : 83 Question Id : 68634019829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most appropriate tree for designing a smell sensory pathway 1s:

1. Delorix Regia

[

. Casia Fistula

L]

. Bougamvillea

4. Jasmm Augustifolivm

Options :

68634078329. 1
68634078330. 2
68634078331. 3
68634078332. 4

Question Number : 83 Question Id : 68634019829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U =101 Hadl ANt 1 f&ug" B+ & o0 gad Sugad 98 &1H 91 ¢
1. STa-a SrorT
i fhegan
ERis G
4, FueA s By

Options :

68634078329. 1
68634078330. 2
68634078331. 3
68634078332. 4

| )

T

Question Number : 84 Question Id : 68634019830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Three qualities defining our perception of Chromatic hight are :

1. Hue .Tint. Shade.

()

. Brightness .Contrast . Tint

]

. Value ,Hue .Intensity

4. Value.Brightness .Shade

Options :

68634078333. 1
68634078334. 2
68634078335. 3
68634078336. 4

Question Number : 84 Question Id : 68634019830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i U1 & diYvTg ol URYINT S arel i o7 ferdd |
1. Hue @2, U5 (Shade)
3. Hue, TUFTAT
4. deg, 99, V'S (Shade)

Options :

68634078333. 1
68634078334. 2
68634078335. 3
68634078336. 4

| )

[#F]

Question Number : 85 Question Id : 68634019831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Wixner centre for visual Art. Ohio [. |Peter Eisenmen
B. |Vitra fire Station, Weilam Rhein, Germany| 1. [Louis Kahn
C. |AT and T Building I11. |Zaha hadid
D. |Sher-e Banglanagar Dhaka IV, |Phalip Johnson

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-II

| ]

CA-L B-IT, C-ITT, D-IV
3. A-I. B-II. C-IV. D-III

4. A-L. B-IIL. C-I1. D-IV

Options :

68634078337. 1
68634078338. 2
68634078339. 3
68634078340. 4

Question Number : 85 Question Id : 68634019831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse

T 1 T 11
A. [aR HX BR [Aoled e, edl | 1 [diex g8ie
B. [fag1 BRR w=F, fAftma g wml | I [agg om
C. [ed us <t fefcgn g I11. [5T8T §alg
D. [ER - U THR, STl IV. [thferd sfi=a

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-I. B-III. C-IV. D-II

[ ]

CA-L B, C-ITL, D-IV
3. A-L. B-1I. C-IV, D-II1

4. A-L. B-III. C-I1. D-IV

Options :

68634078337. 1
68634078338. 2
68634078339. 3
68634078340. 4



Question Number : 86 Question Id : 68634019832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A rombe wall I K b_iac:k water filled vessel absorbing solar
radiation
B. |Brise -Soleh II. |Class enclosed space for sun bathing
¢ Drum wall 1. Gla_es _fmnt masonary absorbing solar
radiation
D. |Solarum IV |Screen to shield the interiors from sunhight

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

(R

CA-IV, B-1. C-II, D-IV
3. A-IIL B-1. C-IL. D-IV

4. A-II. B-I. C-III. D-IV

Options :

68634078341. 1
68634078342. 2
68634078343. 3
68634078344. 4

Question Number : 86 Question Id : 68634019832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=111 =T 11 ¥ fieH Sifeg
T I Tt 1

- e fafH @l faenid &
4 R |1 ATel U Bl U H 43 &
B. [0 Oidia 11 [efg Hep ob feru =T Y FRT =IH
. @1d o GTH- & T3 115 3R
C- [gH L fefpeo o sraiiftig Bt &)

- (B & O bl e
D. [Hreiiay V. R % o S

FEfaRad f[deedl § U 9l 3a &1 994 SI19IU ;

1. A-ITL. B-IV, C-1. D-II

[ ]

CA-TV, B-1, C-ILL, D-IV

CA-IILL B-1L C-I1, D-IV

[FS]

4. A-II. B-I. C-III. D-IV



Options :

68634078341. 1
68634078342. 2
68634078343. 3
68634078344. 4

Question Number : 87 Question Id : 68634019833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Egvption I. |New bonding material
B. |Greck II. |Building Skeletion and Skin|
C. [Roman IT1. |Trabeation
D. |Gothic IV, |Optical Correction

Choose the correct answer from the options given below:

1. A-II. B-I. C-IIL. D-IV

| )

CA-IL B-IV, C-1, D-II
3. A-L B-II, C-ITI, D-IV

4. A-IV. B-IIL. C-II. D-I

Options :

68634078345. 1
68634078346. 2
68634078347. 3
68634078348. 4

Question Number : 87 Question Id : 68634019833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

1 191 = 11 ¥ e Sifo

y
T 1 ?gwi_’l‘ I
kG L 3

A B I |3 du= gl

B. [fid IL [hid X gl ol HHM

C. ke I1L [Ha FHH0r § EaR &1 Uan]
D. [Tiii® IV. [HITP® R
FafdRId faedl © I Ugl IR &1 90+ ST ;

1. A-IT. B-1. C-II1, D-IV

| ]

CA-IL B-IV, C-1L, D-1I

. A-L, B-IL. C-III. D-IV

L

4. A-IV, B-III, C-II. D-I

Options :

68634078345. 1
68634078346. 2
68634078347. 3
68634078348. 4

Question Number : 88 Question Id : 68634019834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Five Year Plan) (Coresponding)
First five vear plan [. [Formation of HUDCO
Fourth five yvear plan | IL [Establisment of TCP
Seventh five vear plan | II1 |Introduction of INNUEM
Tenth five vear plan | IV. |JAnnoucement of National Housing Policy

ofo|w|E

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV. D-III

()

. A-IL B-I. C-IV, D-III

CA-TV, B-1, C-IT. D-III

Lad

4. A-1, B-1I. C-I11. D-IV

Options :

68634078349. 1
68634078350. 2
68634078351. 3
68634078352. 4



Question Number : 88 Question Id : 68634019834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 191 = 11 ¥ e Sifse

GELN! 11
tiaan“@u‘lw %%?n%u

gdll ddayig aieqT | L [HUDCO® T84

1 aaetg afer | I frep &t =mgEr

[gTaa Ugaur areT | L INNURM &1 UR=g

GHdl Ugaug aia | [V, [FRES gIa & giierd] @i e

frafead famedl § T Wl SR & =0 S ;

1. A-I. B-I1. C-IV. D-III

ofo[w]s

| ]

CA-IL B-IL C-IV. D-1II

 A-TV, B-1. C-I1, D-III

L

4. A-L. B-II. C-III. D-IV

Options :

68634078349. 1
68634078350. 2
68634078351. 3
68634078352. 4

Question Number : 89 Question Id : 68634019835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per CPWD guidelines and space standards for barrier free built environment .the minimum turning radins
for a wheelchair in mm 1s:

1. 900

()

1200

. 1500

L]

4. 1800

Options :

68634078353. 1
68634078354. 2
68634078355. 3
68634078356. 4

Question Number : 89 Question Id : 68634019835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

CPWD & f=T FE 3R ®IF AFS! & SAER a1 i a1e1 & ve @i 9 (Pl & [HAf & [
gqH e o gt feciidier J

1. 900

| ]

1200

1500

L4 ]

4. 1800

Options :

68634078353. 1
68634078354. 2
68634078355. 3
68634078356. 4

Question Number : 90 Question Id : 68634019836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Eesidential I |Green
B |Commercial 1I. |[Blue
C. [Industrial IT1. [Voilet
D. Forest land IV [Yellow
Choose the correct answer from the options given below:

1. A-IV. B-1I. C-III, D-I

| ]

CA-ITL B-ILL C-IV, D-1
3. A-L B-II. C-IV, D-III

4. A-II. B-IV. C-I1. D-IV

Options :

68634078357. 1
68634078358. 2
68634078359. 3
68634078360. 4

Question Number : 90 Question Id : 68634019836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

a1 1 gl 1 ¥ e o

I 1I
% 1 e (@19)
HIT L[4
ClEIEEES I [Hien
HERTS 101 [&7t
T i o | IV, [die

frafead famedl § T Wl SR & =g S ;

1. A-IV, B-IL, C-II1, D-I

ofo]w]>

| ]

AL B-I1L C-IV, D-I

. A-L. B-IL. C-IV, D-III

L

4. A-II. B-IV. C-I. D-IV

Options :

68634078357. 1
68634078358. 2
68634078359. 3
68634078360. 4

Question Number : 91 Question Id : 68634019837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A JRad burn I. [Linear
B. |Broadacre 1I. |Grid 1ron Pattern
C. |Chandigarh IT1. [Town of the motor age
D |Letchworth IV |Garden city

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-11, D-IV

| ]

CA-L B-IOOL C-I1, D-IV

A-IV, B-II. C-1, D-III

T

4. A-IV, B-IL, C-III. D-I

Options :

68634078361. 1
68634078362. 2
68634078363. 3
68634078364. 4



Question Number : 91 Question Id : 68634019837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 11 ol 11§ fier ifeg
I T 11
R HYTROT
A REeHEE | L iR
B. [@18Uax IL |58 3R Ued
C. ierme 1L [e73 3 Aex i
D. [de a¥ IV. [rs+ [t
FFafaRad fasedl d I U8l 3R &1 98- Sl -

1. A-IIL. B-1. C-I1. D-IV

-J

A-L. B-IIL. C-I1. D-IV

CA-TV, B-IL C-1. D-III

[#5]

4. A-TV, B-II, C-I11, D-I

Options :

68634078361. 1
68634078362. 2
68634078363. 3
68634078364. 4

Question Number : 92 Question Id : 68634019838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |City development plan I PMGSY
B. |Slum free city II. PNNURM
C. |Transport Network Plan in rural area| II1. [RAY
D. [Disaster Network Plan TV [NDMA

Choose the correct answer from the options grven below:

1. A-II. B-III. C-L. D-IV

)

. A-IL. B-1. C-III. D-IV

CA-L BAIOTL C-T1, D-IV

Lad

4. A-III. B-IL. C-I. D-IV

Options :
68634078365. 1
68634078366. 2



68634078367. 3
68634078368. 4

Question Number : 92 Question Id : 68634019838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 9= 11§ e Sifse

A [rredl [Ty gie 1. [diugelivgar
B. [SIUS-Uel Aed e 1. [SEAUIHREH
C. [ & H uRaed uikdier | I [sRuarg

D. [HUg] Heddh gieH] IV. [T420AY

fraferad famedl # T Wl SR & 9g Sifo ;

1. A-IT. B-I1L. C-1, D-IV

| ]

CA-IL B-IL C-IIL D-IV

. A-L B-IIL. C-I1. D-IV

L

4. A-IIL. B-IL. C-1. D-IV

Options :

68634078365. 1
68634078366. 2
68634078367. 3
68634078368. 4

Question Number : 93 Question Id : 68634019839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Bhunga house 1s related to Architecture with Architect.

Statement IT : Bhunga house 1s related to Architecture without Architect.

In the hight of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false

. Statement I is correct but Statement IT 1s false

[F¥]

4. Statement I 1s incorrect but Statement II 1s true

Options :
68634078369. 1



68634078370. 2
68634078371. 3
68634078372. 4

Question Number : 93 Question Id : 68634019839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A4 gl P Ry e 8
FUA : ARPR & JY dRIBal & g Y @R JHfd|
HYF 11 : T R 577 aRgPR & aRgeddl I Jafd g |
ORI Y & Tl |, - f3u T fadedl § 9 969 Sugad IR &1 99 ST
1. BT IR PUF A Tl &

DY 3R BYA 1T a1 TTd &

| )

HYT 1 96l 5. A U 11 TTed ©

Lad

4. BYF 170 5. Afde HYT 1 T8l &

Options :

68634078369. 1
68634078370. 2
68634078371. 3
68634078372. 4

Question Number : 94 Question Id : 68634019840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following city comes under UNESCO- world heritage city-

1. Dellu

[ E]

. Ahmedabad

. Kolkata

L%}

4. Mumbati

Options :

68634078373. 1
68634078374. 2
68634078375. 3
68634078376. 4



Question Number : 94 Question Id : 68634019840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafarad @ T $1F 91 263 I [0y 4RIg & Siaid 317l 6-
1. feemt
 SEUEEIG
 PICTDIdl
4. gag
Options :
68634078373. 1
68634078374 2

68634078375. 3
68634078376. 4

| )

Lad

Question Number : 95 Question Id : 68634019841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not included in the UDPFI guidelines urban development ?

1. Perspective Plan

()

. Development Plans

. City Development Plans

L%}

4. Ammual Plans

Options :

68634078377. 1
68634078378. 2
68634078379. 3
68634078380. 4

Question Number : 95 Question Id : 68634019841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & 3 1 Wl faer & fog gEiduwearns fE=n frd= & mnfha 72T &)
1. GISled aretT

famr Ao

X164 fdor g T

4, A1 TIsH

Options :

68634078377. 1
68634078378. 2
68634078379. 3
68634078380. 4

| ]

[ 5]

Question Number : 96 Question Id : 68634019842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT a traffic calming measure ?

1. Rumble strips

()

. Roundabouts
3. Pedestrian Crossings

4. Roadside trees

Options :

68634078381. 1
68634078382. 2
68634078383. 3
68634078384. 4

Question Number : 96 Question Id : 68634019842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefad & 3 S99 ararad 2id S &1 39 Tel o

TTSTTSTeC B Ugl

[—

| ]

XSS AN (Tedadh)

3. UE R Uy

4. G5 P Y TG4

Options :
68634078381. 1



68634078382. 2
68634078383. 3
68634078384. 4

Question Number : 97 Question Id : 68634019843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prof. B.V Doshi was awarded Padma Vibhushan (Post thumous) in which year?

1

2.

4.

Options :

68634078385. 1
68634078386. 2
68634078387. 3
68634078388. 4

Question Number : 97 Question Id : 68634019843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UtEER &l dl =i @ i o usy faywor 8 g fear g

1.

)

Lad

4.2

2020

Options :

68634078385. 1
68634078386. 2
68634078387. 3
68634078388. 4

Question Number : 98 Question Id : 68634019844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'AMRUT" the new scheme Launched by Government of India stands for

1. Atal mission for Rejuvenation and Urban Transformation

()

. Atal mission for renewal of Urban Transportation

3. Atal mission for Redevelopment of Urban Transportation

4. Atal mission for Renewal and Urban Transformation

Options :

68634078389. 1
68634078390. 2
68634078391. 3
68634078392. 4

Question Number : 98 Question Id : 68634019844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078389. 1
68634078390. 2
68634078391. 3
68634078392. 4

()

Question Number : 99 Question Id : 68634019845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of transit Oriented Development (TOD) refers to :

1. Transit oriented planning in institutional campuses

()

. High density development along a mass transit corridor
3. Orienting residential blocks towards the transit in a gated community

4. Spatial design for person with disabilities along a mass transit order .

Options :



68634078393. 1
68634078394. 2
68634078395. 3
68634078396. 4

Question Number : 99 Question Id : 68634019845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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()
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Options :

68634078393. 1
68634078394. 2
68634078395. 3
68634078396. 4

Question Number : 100 Question Id : 68634019846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : Guggenheim museum Bilbao 1s designed by Ar. Frank Gehry.
Statement IT : Tt is a perfect example of Brutalism.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false

. Statement I is correct but Statement IT 15 false

T

4, Statement [ 15 incorrect but Statement IT 1s true

Options :

68634078397. 1
68634078398. 2
68634078399. 3
68634078400. 4

Question Number : 100 Question Id : 68634019846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634078397. 1
68634078398. 2
68634078399. 3
68634078400. 4



